[ & % ]
T 14 T 5 (%) 14 F 2 (%)
A [ =& o B [ &8 o
¥R KR 2B ¥R KM £EH
e 12| 64.4 [65.7 |67.7 et 4] 55.0 |60.8 |63.2
smesamaE g (R 12 59.0 [60.5 |63.4 e (B 4] 34.5 [38.0 [39.0
REF [y 8| 58.4 [60.0 [61.7 REFE gy 5| 30.4 [30.1 [30.7
aRoERl 4] 60.9 |59.7 [63.0 aRoERl 2[29.0 [28.0 [31.2
HEA BEEHAEERE(FR. KR, £E) HFB AR EEECERK. KR, £2E)
100 100
80 80
60 60
40 40
20 20
0 0
L e4iA BI%L EROTE HeesA B B EEOTE
DER OKXRT a£E BEH OXRT B2E
HEA EEAEEE(MEELL) H¥B MEEAEZE(IEELL)
Bt et
10 =%, 1.0 ST,
. '.0'.9.
HHDE 4 “umH AHOER 112
’ A I PN ’ H I 2E
Y. K \/ PN
B3 —_— A ——
[ #EFH ]
FEHIEEE%)
i XKERm £E
YIRRYSEEL 7| 46.6 |46.4 |48.9
samesmmapgy [MEFHIFEE| 7] 53.5 |53.3 |56.2
REF 4wmasas| 6] 58.6 [55.8 [62.2
HhEppgsEEL 6] 45.7 |42.9 |46.4
HE fREAEEECER. KR, £E)
100
80

60
40
20

0

YERgtEE L FEREIR  AEotEE R EIR
EER OXRT B£E

BE EEAEER(dEELL)
!{@OIEB%EE%

55 FE I

=7 0) b

(4)



